RESEARCH

Open Access

Determinants of smallholder farmers' adaptation strategies to the effects of climate change: Evidence from northern Uganda



Francis Atube^{1*}, Geoffrey M. Malinga², Martine Nyeko³, Daniel M. Okello⁴, Simon Peter Alarakol⁵ and Ipolto Okello-Uma⁶

Abstract

Background: Climate change poses a threat to the sustainability of food production among small-scale rural communities in Sub-Saharan Africa that are dependent on rain-fed agriculture. Understanding farmers' adaptations and the determinants of their adaptation strategies is crucial in designing realistic strategies and policies for agricultural development and food security. The main objectives of this study were to identify the adaptation strategies used by smallholder farmers to counter the perceived negative effects of climate change in northern Uganda, and factors influencing the use of specific adaptation strategies. A cross-sectional survey research design was employed to collect data from 395 randomly selected smallholder farmers' household heads across two districts by the administration of a semi-structured questionnaire. Binary logistic regression was used to analyze the factors influencing farmers' adaptation to climate change.

Results: The three most widely practiced adaptation strategies were planting of different crop varieties, planting drought-resistant varieties, and fallowing. Results of the binary logit regression model revealed that marital status of household head, access to credit, access to extension services, and farm income influenced farmers' adoption of planting drought-resistant varieties as an adaptation strategy while access to credit, annual farm income, and time taken to market influenced adoption of planting improved seeds. Gender of household head and farm income had a positive influence on farmers' adoption of fertilizer and pesticide use. Farming experience, farm income, and access to extension services and credit influenced farmers' adoption of tree planting. Household size, farming experience, and time taken to market had positive influence on the use of fallowing, while size of land cultivated significantly influenced farmers' planting of different crop varieties as an adaptation strategy.

Conclusion: Findings of the study suggest there are several factors that work together to influence adoption of specific adaptation strategies by smallholder farmers. This therefore calls for more effort from government to strengthen the provision of agricultural extension services by improving its climate information system, providing recommended agricultural inputs and training farmers on best agronomic practices to enhance their holistic adaptation to the effect of climate change.

Keywords: Adaptation options, Adaptive capacity, Coping strategies, Climate variability, Smallholder agriculture

*Correspondence: atube12frak@gmail.com ¹ Department of Science Education (Agriculture), Faculty of Education and Humanities, Gulu University, P.O. Box 166, Gulu, Uganda Full list of author information is available at the end of the article



Background

The consensus by policymakers, practitioners, and researchers today is that adaptation to climate change is not happening at the desired pace [1]. Frequent floods, land degradation, and droughts are some of the

© The Author(s) 2021. This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons licence, and indicate if changes were made. The images or other third party material in this article are included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit http://creativecommons.org/fuences/by/4.0/. The Creative Commons Public Domain Dedication waiver (http://creativecommons.org/publicdo-main/zero/1.0/) applies to the data made available in this article, unless otherwise stated in a credit line to the data.

indications of climate change leading to agricultural productivity losses [2]. The Intergovernmental Panel on Climate Change (IPCC) defines human adaptation as "the process of adjusting to actual or expected climate variability and its effects to moderate harm or exploit beneficial opportunities" [3]. The process of adjustment to actual or expected climate is normally affected by several factors (herein referred to as barriers). Barriers are the factors and conditions that may hinder or prevent this adjustment to climate change and its effects and are categorized into financial, technical, socio-cultural, and political economic [4, 5].

Inadequate capacity to adapt to the effects of climate change has resulted in global food insecurity which remains a worldwide concern for the next 50 years and beyond [6]. This appalling situation is partly because of the elusive conceptualization of food security yet its indicators are oriented to one or more of its dimensions of availability, access, utilization, and stability [7]. Although agroecological approaches offer some promise for improving yields, achieving food security needs policy, and investment reforms on multiple fronts, including human resources, agricultural research, rural infrastructure, water resources, and farm- and community-based agricultural and natural resource management. [8].

Sub-Saharan Africa has been identified as one of the regions most vulnerable to the negative impacts of climate change compared to other regions [9-12]. This is because of their low level of adaptation capacity and poverty [13, 14]. In developing countries, the adaptation of the agricultural sector to the present changing climate is necessary for ensuring the livelihoods of the poor communities [15, 16]. This initiative can be made possible through the participation of multiple stakeholders, such as policymakers, extension agents, Non-Governmental Organizations (NGOs), researchers, and the local farming communities. However, the adaptation to climate change is mostly location specific, and the adaption strategies employed by farmers depend on the local institutions, and various socioeconomic and environmental factors, e.g., education level, gender, age, farming experience, and wealth of household head, family size, farm size, access and availability of markets, access to extension and credit, access to climate information, and favorable agricultural policies in place [15, 17–19].

Uganda is one of the countries in Africa that is heavily burdened by the effects of climate change, and those who are most vulnerable are the smallholder farmers who constitute the majority (85%) of the farming community [1]. More than half of the rural households are dependent on agriculture for their livelihoods, and nearly half of those rural households that depend on agriculture usually experience one or more of the several forms of food insecurity resulting from the decline in household food production and diversity due to climate change [20]. The Uganda Bureau of Statistics (UBOS) defines smallholder farmers as those who usually cultivate less than one hectare of land in a cropping season, practice labor intensive farming using rudimentary technology especially the hand hoes, own a few heads of cattle, and produce mainly for family consumption, with a limited surplus for the market. Family labor is their main source of labor and is particularly undertaken by women and children. Besides, they lack efficient means of transport to take the surplus produced to the market centers forcing them to sell at the farm gate at low prices [21]. Along the agricultural value chain, smallholder farmers in Uganda face a multitude of constraints, such as inadequate knowledge and skills for value addition, inadequate financial capacities to purchase, and use the right inputs which limit their ability to increase productivity and access the markets.

Materials and methods

Study area

This study was conducted in Apac and Amuru districts of Northern Uganda (Fig. 1). We selected these two districts because they are characterized by different agro-climatic conditions and predominant production systems. Apac district is located in the cattle corridor that stretches from southwestern to northeastern Uganda. The cattle corridor is dominated by pastoral rangelands and has semi-arid characteristics. On the other hand, Amuru district is located outside the cattle corridor. The two districts cover a total area of 7,534 km². The farming system in both districts is predominantly annual cropping and livestock rearing [29]. Farming in the two districts is largely small scale, with Apac practicing both small-scale livestock rearing and crop farming [30], while Amuru is predominantly inhabited by crop farmers with a few families keeping domestic livestock at subsistence level [31]. Apac district lies between longitudes 32° E and 34° E and latitudes 2° N and 3° N (Fig. 1), and its southern boundary is bordered by Lake Kwania and the river Nile. Apac District has a unimodal season and receives a total annual rainfall of 1,330 mm which falls predominantly from April to November with peaks in April and August. The dry season is from December to March and the average monthly minimum and maximum temperatures are 17 °C and 29 °C, respectively [24]. Amuru district lies between longitudes 30° E and 32° E and 2° N and 4° N (Fig. 1). The district is endowed with vast fertile soils that support farming [32]. Amuru experiences dry and wet periods throughout the year and receives a mean annual rainfall of 1,434 mm [25]. The wettest period extends from April to October, with its peaks in May, August, and October, while the dry season is from the end of November to end



of March. Average maximum and minimum temperatures in Amuru are 30.5 °C and 16.8 °C [33], respectively.

Sampling design and sample size

The target population of smallholder farmers was selected using a multistage sampling technique. First, the two districts were purposively selected based on the limited researched information regarding the adaptation of smallholder farmers to the effects of climate change, and the highly agrarian nature of their population and location in the cattle corridor. From each district, two subcounties-Paboo and Lamogi (in Amuru) and Akokoro and Chegere (in Apac district)-were randomly selected. In each of the selected sub-counties, two parishes were randomly selected totaling to eight parishes. From each of the parishes, one village was randomly selected making a total of eight villages for the entire study. Finally, 395 households [34] were randomly and proportionally selected from the eight villages, 260 for Apac and 135 for Amuru districts. A cross-sectional survey (conducted from December 2018 to May 2019) was employed to collect primary data from farming household heads. The survey was piloted at Paicho sub-county in Gulu district with 20 farmers (13 males and 7 females). The surveys were carried out by trained data enumerators. The primary data obtained included data on the socio-economic characteristics of the farmers, such as gender, age, marital status, land owned, land cultivated, education level, farming experience, annual farm income, distance to the nearest market, time taken to the nearest market, access to extension services, access to credit facilities, and farmer group membership. During the interview, individual farmers/household heads were also asked what climate change adaptation strategies they implement to counter the impacts of climate change on their farming activities.

Econometric analyses

In mitigating the effects of climate change, farmers usually adapt a number of strategies with the decision to use a given strategy being guided by the Utility Maximization Theory. The theory postulates that economic units (farmers) make decisions guided by the expected benefit that they expect to obtain from such a decision, amidst a set of constraints [35–37]. Consequently, a given climate change adaptation strategy would be used only if the expected net benefits from its use surpasses the expected net benefits from non-use. The choice of each of the adaptation strategy available to farmers is thus a binary decision. Given this binary nature, a Binary logistic regression (BLR) model was employed to identify the factors that determine the smallholder farmers' adaptations to climate change. The model was applied separately to each of the seven adaptation strategies identified among farmers in the study area. The advantage of the BLR is that it permits analysis of dichotomous decisions, such as when a farmer adapts the practice to counter the effects of climate change or not, allowing the determination of choice probabilities for the different categories [38].

Let *Y* be our binary outcome variable adaptation strategy. We define *Y* as specified in Eq. (1):

$$Y_i = \begin{cases} 1 \text{ if the } i\text{th farmer uses a given adaptation strategy} \\ 0 \text{ otherwise} \end{cases}$$

In this case Y_i is a latent variable with probabilities p for $y_i^* = 1$ and 1 - p for $y_i^* = 0$. Y_i is a dichotomous dependent variable, i.e., 1 if a farmer has adapted and 0 otherwise to climate change. In this study, seven dichotomous choice variables of adaptation strategies were considered

(Table 2), and, as such seven separate binary logistic models, were estimated.

The binary dependent variables were regressed against the X variables as specified in Eq. (2):

$$Y_i^* = \alpha + X_I' + u_i, \qquad (2)$$

where X'_i represents a vector of explanatory variable which influences a given adaptation practice. These variables are described in Table 1. α is the constant term, β is a vector of parameters to be estimated associated with farm specific attributes, while u_i is the error term. The conditional probability is estimated from specification given in Eq. (3):

$$\Pr\left(z_{i}=1|x\right)=F\left(x_{i}^{\prime}\delta\right),\tag{3}$$

where F(.) is the cumulative logistic density function that applies to the binary logit model.

Prior to the logit regression, we checked for multicollinearity among the explanatory (independent) variables using a correlation test. Variables that were strongly correlated to each other (correlation coefficient above 0.5) were dropped from the regression analyses. Thus, age and distance to the nearest market were removed due

Table 1 Description, definition, and values of variables used in the logistic regression

Variable	Definition	Value and u	nit of measurement
Dependent variables	3		
Adaptation strategy	Adaptation options	Dummy, 0 = 1 = using the	not using the adaptation strategy adaptation strategy
	Adaptation strategies considered in this study inclu chemical fertilizers, use of pesticides, fallowing th	ided planting of drought-resistant varieties, u e garden, and planting different crop varietie	ise of improved seeds, use of is
Variable	Definition	Value and unit of measurement	Apriori expectation (Citation)
Independent variable	es		
Gender	Gender of the household head	Dummy variable, $0 =$ Female $1 =$ male	±[15, 40, 41]
Household size	Number of family members	Categorical, 1 = 1-5, 2 = 6-10, 3 = 11-15, 4 = 16-20, 5 = 21-25	+ [42-44]
Marital status	Marital status of the household head	Dummy variable, 1 = married, 0 = not married	±[4, 45, 46]
Farming experience	e Number of years of farming by household	Continuous variable (years),	±[15, 40, 47]
Extension services	Access to extension services	Dummy variable, 1 = access to extension services 0 = otherwise	+ [15, 42–44, 48]
Farmland size owne	ed Size of farm land owned by the household	Continuous variable (in acres)	+ [15, 40, 42, 43, 49]
Land cultivated	Size of cultivated farmland by the house- hold	Continuous variable (in acres)	— [50]
Credit	Access to credit services	Dummy variable, $1 = $ access to credit and $0 = $ otherwise	±[40, 43, 50, 51]
Time to market	Time taken to the nearest market	Continuous variable (minutes)	±[15, 50, 52]
Income	Average annual household income (2018)	Continuous variable (UGX)	+ [40, 47, 48, 53,]
Farmer group mem ship	ber- Belongs to a farmer's group	Dummy variable, $0 = No, 1 = Yes$	±[40, 50, 52]

(1)

UGX is Ugandan Shillings (\$1 = 3,700 UGX)

Variable	Mean	Std. Dev	Min	Max
Gender (1 $=$ Male, 0 $=$ Female)	0.54	0.50	0	1
Household size	6.79	3.63	1	24
Marital status (1 = married, 0 = otherwise)	0.82	0.39	0	1
Farming Experience (Years)	18.80	13.62	1	65
Access to Extension $(1 = yes, 0 = No)$	0.19	0.39	0	1
Land Owned (Acres)	7.94	32.76	0	600
Land cultivated (Acres)	2.90	1.07	0.5	7
Access to credit $(1 = yes, 0 = No)$	0.63	0.48	0	1
Time taken to market (Hours)	0.98	0.97	0	6
Farm income (UGX)	821,704.80	717,340.90	10,000	5,000,000
Group membership (1 = yes, 0 = No)	0.48	0.50	0	1

In case of dummies, the mean refers to mean proportions (in percentage)

to their strong collinearity with farming experience and time taken to the nearest market, respectively. Similarly, the education variable was also dropped since the dummies for primary level and secondary level were strongly correlated.

Definition of variables

The dependent variables in this study are the adaptation strategies adopted by farmers (1 if adapted, 0 otherwise, Table 1). The independent (explanatory) variables were chosen based on previous studies [39-41] and they included household characteristics: gender, household size, marital status, farming experience, access to extension services, farmland size owned, land size cultivated, access to credit, time taken to the nearest market, household income, and farmer group membership (Table 1). Among adaptation strategies that were considered in this study, planting of different crop varieties here meant farmers planted multiple crop varieties in one planting season as a way of ensuring that some of the planted crops survive the climate change effects. The planting of drought-resistant crop varieties is where farmers planted crop varieties that are specially designed or adapted to thrive amidst droughts and the famers despite experiencing drought would still have good harvest from such a garden.

Results and discussion

Descriptive analysis of respondents

Table 2 presents the summary of socioeconomic characteristics of households surveyed in the study area. It showed that more agricultural households were headed by male (54% of the household heads) which reflects the patriarchal cultural practices in Africa whereby women are looked at as "inferior" and are not allowed to talk on behalf of the household heads [54]. The average household size was seven individuals which is above the national average of five [32]. Household size is a proxy to labor availability that enables farmers to take labor adaptive measures on their farm. Female heads of households were often divorced or widowed. Over 82% (majority) of the household heads were married and they had an average of 18.80 years of farming experience (Table 2). Several studies have shown that farmers with more years of farming experience perceive climate change adaptation strategies better than those with less experience in farming practices [55]. The surveyed households also owned on average 7.9 acres of land, although they only cultivated an average of 2.9 acres. The majority (63%) of the farmers had access to funding (microcredit) from various registered microfinance institutions, including banks and village savings and loan associations. Only 48% of the household heads belonged to a farmer organization (a village association, cooperative, or a communal union of farmers), and only 19% of the household heads received agricultural extension services. The household heads took on average 0.98 h to travel either from their households to the market or vice versa. Households earned on average of UGX 822,000 (USD 222) income from all the farming activities per year.

Adaptation strategies of smallholder farmers to climate change

The results revealed seven adaptation strategies commonly used by smallholder farmers in both Amuru and Apac districts to mitigate the effects of climate change on their farming activities (Table 3). All the adaptation strategies reported focused on reducing the effects of drought which seem to be a more frequent problem to farmers in the study area [56, 57] compared to floods. Planting different crop varieties was the most widely practiced (96% overall) adaptation strategy by farmers in both districts.

Adaptation strategy	Overall		Amuru		Арас	
	Freq	%	Freq	%	Freq	%
Planting drought-resistant varieties	314	79.5	105	80.8	209	78.9
Use of improved seeds	228	57.9	55	42.3	173	65.3
Use of chemical fertilizers	93	23.6	23	17.7	70	26.4
Intensive use of pesticides	247	62.5	75	57.7	172	64.9
Fallowing the garden	263	66.6	88	67.7	175	66.0
Use of different crop varieties	379	96.4	128	98.5	251	94.7
Practicing tree planting	152	38.5	42	32.3	110	41.5

Table 3 Adaptation strategies used by smallholder farmers to mitigate the effects of climate change and the proportion of respondents that practiced them in Amuru and Apac districts

At the specific study district level, Amuru and Apac had 99% and 95% of its farmers, respectively, adopting the planting of different crop varieties that can tolerate the effects of climate change to improve crop productivity. This finding corroborates a study conducted by FAO in developing countries which revealed that planting different crop varieties enhances achievement of a sustainable agricultural growth for food security amidst climate change [58].

Planting drought-resistant crop varieties was the second most (80%) adopted strategy by farmers in both districts with Amuru having 81% and Apac 79% of its farmers adopting the planting of drought-resistant varieties. Fallowing was the third most adopted strategy (67%) by both districts with 68% of farmers in Amuru and 66% in Apac adopting fallowing. Other adaptation strategies in this study included intensive use of insecticides (63%) for pest control, use of improved seeds (58%), and tree planting (39%) probably to reduce soil erosion and improve water catchment which is in line with the findings of a study conducted in the central rift valley of Ethiopia revealing that increased planting of trees by farmers in the area was mainly to provide natural shade for farmers' crops during the long dry periods [15]. The use of chemical fertilizers (24%) was the least adopted adaptation strategy by farmers. This could probably be attributed to the limited technological skills and financial capacity of smallholder farmers to adequately use chemical fertilizers [15].

Determinants of farmers' adaptation strategies to the effects of climatic change

The binary logistic regression analysis was used to assess the determinants of farmer's adaptation strategies to the effects of climate change. Post-estimation results showed that the Wald Chi was significant for all the adaptation strategies, while the Pearson Chi-square goodness of fit was not significant for all the adaptation, which indicates that our data fits well with the model. In the following sections, the regression results are described and compared to literature. The results of the binary logistic regression (Table 4) showed that some of the explanatory variables influenced the adoption of specific adaptation strategies by smallholder farmers to the effects of climate change.

Gender responsiveness on adaptation

The results revealed that gender of household head had a positive and significant influence on the application of chemical fertilizers and intensive use of pesticides as adaptation strategies to the effects of climate change. Male household heads were 0.78 times more likely to use chemical fertilizers (p = 0.011) and 0.66 times more likely to use pesticides (p=0.008) as adaptation strategies to the effects of climate change than their female counterparts. This finding is consistent with a study conducted in Ghana which found that male household heads were more likely to adopt climate-related practices than female household heads [40]. This could be because female household heads are less likely to meet the investment demands for such adaptation practices since they usually have limited access and control to productive and financial resources than their male counter parts [42, 59]. Females also have lower capacities to diversify their sources of income due to heavy domestic responsibilities than their male counter parts [60, 61].

Household size

The results of the study indicated that household size had a significant (p = 0.018) effect on adoption of fallowing as an adaptation strategy. This implies that a unit increase in household size reduces the likelihood to use fallowing as an adaptation strategy by 0.087. This finding is in line with a study conducted by Ndamani and Watanabe [40] in the Lawra district of Ghana and by FAO in developing countries [58] which showed that the likelihood of

										ĥ				
Explanatory variables	Drought resis	tant	Improved See	spi	Fertilizer use		Pesticide use		Fallowing		Different vari	eties	Tree planting	
	varieties													
	Coef. (SE)	P > z	Coef. (SE)	P>z	Coef. (SE)	P > z								
Gender of household head	0.562 (0.316)	0.075	- 0.356 (0.248)	0.151	0.778 (0.306)	0.011	0.656 (0.246)	0.008	0.385 (0.261)	0.140	- 0.044 (0.584)	0.939	0.014 (0.264)	0.956
Household size	-0.025 (0.039)	0.521	- 0.030 (0.034)	0.377	- 0.018 (0.038)	0.641	- 0.041 (0.038)	0.272	- 0.087 (0.037)	0.018	- 0.108 (0.068)	0.115	- 0.028 (0.034)	0.415
Marital status	0.913 (0.379)	0.016	0.200 (0.324)	0.536	- 0.406 (0.402)	0.313	- 0.406 (0.334)	0.224	0.257 (0.331)	0.437	- 0.546 (0.865)	0.528	0.108 (0.338)	0.748
Farming Experience (Years)	0.015 (0.011)	0.167	0.004 (0.009)	0.652	- 0.004 (0.012)	0.752	0.002 (0.010)	0.873	0.032 (0.010)	0.001	- 0.003 (0.023)	0.908	0.024 (0.010)	0.012
Access to Extension	1.644 (0.529)	0.002	0.296 (0.319)	0.354	0.573 (0.322)	0.075	- 0.041 (0.315)	0.896	0.175 (0.339)	0.605	- 0.981 (0.642)	0.127	0.686 (0.293)	0.019
Land Owned (Acres)	0.010 (0.015)	0.507	- 0.011 (0.010)	0.253	0.001 (0.003)	0.917	0.001 (0.003)	0.841	0.041 (0.039)	0.290	0.016 (0.019)	0.419	- 0.002 (0.003)	0.519
Land cultivated (Acres)	0.323 (0.159)	0.043	- 0.124 (0.126)	0.328	0.165 (0.145)	0.255	0.138 (0.131)	0.291	0.121 (0.146)	0.409	0.822 (0.286)	0.004	0.150 (0.126)	0.235
Access to credit	- 0.686 (0.317)	0.030	0.585 (0.252)	0.020	0.323 (0.286)	0.259	0.315 (0.254)	0.215	- 0.484 (0.266)	0.069	- 0.686 (0.664)	0.302	0.626 (0.271)	0.021
Time taken to market (Hours)	0.068 (0.154)	0.657	0.365 (0.146)	0.012	0.150 (0.137)	0.276	0.066 (0.135)	0.623	0.292 (0.145)	0.044	- 0.114 (0.279)	0.681	0.130 (0.115)	0.259
Farm income (UGX)	- 0.038 (0.174)	0.829	0.325 (0.157)	0.038	0.572 (0.204)	0.005	0.508 (0.162)	0.002	0.247 (0.152)	0.105	- 0.259 (0.308)	0.400	0.385 (0.169)	0.022
Group membership	0.225 (0.296)	0.447	- 0.168 (0.241)	0.486	0.002 (0.274)	0.994	0.084 (0.241)	0.729	0.118 (0.251)	0.637	0.295 (0.491)	0.548	0.005 (0.249)	0.983
Constant	-0.668 (2.226)	0.764	- 3.703 (2.074)	0.074	- 8.248 (2.781)	0.003	- 5.370 (2.126)	0.012	- 3.936 (2.074)	0.058	6.450 (4.606)	0.161	- 7.167 (2.283)	0.002
Log likelihood	- 162.752		- 226.272		- 173.344		— 219.111		- 206.671		- 52.515		— 214.903	
Wald chi2	33.18	0.000	21.04	0.033	33.95	0.000	25.93	0.007	0.039	0.003	22	0.024	34.63	0
GOF Pearson chi2	327.98	0.711	354.74	0.306	369.48	0.147	359.09	0.264	361.66	0.234	311.26	0.875	356.48	0.297
Coeff Coefficient, SE Standard Erroi	r in parentheses, G	OF Goodr	ess of fit test											

Table 4 Binary logit model parameter estimates on determinants of adaptation strategies to the effects of climate change

adapting to climate change was higher with large household size than with small households probably due to higher availability of labor.

Marital status

This study found that marital status of the household head had a significant (p = 0.016) influence on adopting planting of drought-resistant crop varieties as an adaptation strategy in response to the effects of climate change and households with married heads were 0.913 times more likely to adopt planting of drought-resistant crop varieties than their unmarried counter parts (Table 4). This particular finding is in agreement with a study conducted in southern Ethiopia [43] which indicated that marital status is highly related to household decision making. A number of previous studies [62-64] also showed that households with married heads are more likely to adopt improved crop varieties since they seem to have distinct agricultural contacts, including extension agents and agro-input dealers compared to their unmarried counter parts who rely mostly on other farmers as their source of agricultural information.

Years of farming experience

The study results showed that farming experience of household heads had a significant effect on adopting fallowing (p = 0.001) and tree planting (p = 0.012) as adaptation strategies to the effects of climate change, and farmers with more years of experience were 0.032 and 0.024 times more likely to adopt fallowing and planting of trees, respectively, than those with fewer years of farming experience. This is in agreement with a study conducted in Dejen District, Nile Basin of Ethiopia [47] which established that as one becomes more experienced in farming, the probability of adopting improved farming practices increases. This could be because experienced farmers have a wealth of indigenous knowledge and information about changes in climatic conditions and the best agronomic practices to adopt [65].

Access to extension services

Household heads that received extension services were found to be 1.644 times more likely to plant droughtresistant crop varieties (p=0.002) and 0.686 times more likely to plant trees (p=0.019) as adaptation strategies to the effects of climate change than their counter parts who did not have access to extension services. These findings are in agreement with previous studies [65-67] which showed that access to information through agricultural extension increases the likelihood of uptake of adaptation to climate change as farmers get exposed to new information and technical skills. Therefore, the provision of timely information and frequent support of farmers by extension services should be strengthened to allow farmers to adapt to the effects of climate change. In the present study, planting of different crop varieties was the least favored adaptation strategy used by farmers who had access to agricultural extension services. This could be because planting of different crop varieties is labor intensive [50], making it less favored by smallholder farmers who mainly use rudimentary farm tools and equipment to farm on small pieces of land for their livelihoods.

Size of land cultivated

The results of study showed that household heads that cultivated large pieces of land were 0.323 times more likely to plant drought-resistant varieties (p = 0.043) and 0.822 times more likely to plant different crop varieties (p=0.004) as adaptation options to the effects of climate change than their counter parts who cultivated smaller farm sizes. This result is in agreement with a study by Daberkow and McBride [68] in the United States which showed that given the uncertainty and the fixed production and information costs, there is a critical limit on farm size that prevents smallholder farmers from adapting to newly introduced farming technologies. This could be because large farm size allows for adopting newly introduced farming practices without running sort of land to practice the usual farming practices. The results of this study also corroborate with Amare and Simane [50] in the Muger River sub-basin of the Blue Nile basin of Ethiopia which showed that size of land cultivated by a household tends to influence adoption of farming practices.

Access to credit

The study showed that household heads that had access to credit were 0.686 times less likely (p=0.030) to plant drought-resistant varieties, 0.585 times more likely (p=0.020) to plant improved seeds, and 0.626 times more likely (p=0.022) to plant trees than those who did not have access to credit (Table 4). With increased

access to credit/cash flows, farmers are able to invest in more costly but better rewarding farming practices which could reduce the negative impact of climate change on food production. This finding is consistent with findings of previous studies in the Nile Basin of Ethiopia [17] and in Sekyedumase district, Ghana [39], respectively, which indicated a positive correlation between adoption of climate change adaptation practices and access to credit. These findings, as well as our study, suggest the important role of increased institutional support in promoting adaptation practices to mitigate the negative impact of climate change on smallholder farming communities.

Time taken to market

Households heads that took a shorter time to reach the market were 0.365 times less likely (p=0.012) to plant improved seeds and 0.292 times less likely (p=0.044)to leave part of their land to fallow than their counterparts who took longer to reach the market. In this study, time taken to the market is a proxy of the road distance to the market, the means of transport used, and the cost of transportation to the market. The probable explanation for this particular finding could be that farmers who move longer distances to markets usually acquire inputs from urban areas where improved seeds are sold as might be the case for these particular farmers who often come from rural areas to the town ones in a while. Similarly, since time to the market is a proxy for how far a farm is located from the urban areas, farmers who stay far away from urban areas are the ones who usually have more land that can be fallowed. An additional explanation could be that because of increased access of middlemen in the trade sector who travel to buy produce right from the farm gate, coupled with the difficulties in transportation of farm produce by individual farmers from their farm to the markets, farmers who are far from the market have difficulties in accessing agricultural extension services that should prompt them to plant improved seeds and fallow their gardens as a means of improving their productivity amidst climate change. However, these findings are not in agreement with other studies, such as one by Maddison [69] which reported a decrease in the tendency of farmers to adopt climate change strategies as markets get further away from their homes. This study also does not corroborate with a study conducted in the Muger sub-basin of the Upper Blue Nile Basin of Ethiopia [50] which contended that adoption to different technologies thrive in areas with well-developed rural infrastructures, such as access roads which make it easy for farmers to take their farm products to nearby markets. Also, According to Vorley et al. [53], proximity to market is a means of sharing and exchanging information with other farmers and service providers; therefore, farmers nearer to markets are more likely to adopt innovations brought on board. Accessibility to markets also increases the incentive of farmers to produce surplus food and cash crops that can easily be taken to the market and thereby enhances their income and capabilities to adapt to the effects of climate change [70].

Household farm income

Household heads with a higher annual farm income were 0.325 times more likely (p=0.038) to plant improved seeds, 0.572 times more likely (p=0.005) to use fertilizers, 0.508 times more likely (p=0.002) to use pesticides, and 0.385 times more likely (p=0.022) to plant trees as adaptation strategies to the effects of climate change than their counter parts with low farm income. This finding is in agreement with previous studies [14, 71] which showed that wealthier farmers are more likely to employ adaptation strategies by changing agronomic practices to mitigate the effects of climate change than poor farmers. Furthermore, the findings of Nhemachena and Hassan [65] also indicated that per capita income has a positive influence on farmer' decision to take-up adaptation measures.

Conclusions

In this study, we assessed the factors that influence the adaptation strategies to the effects of climate change by smallholder farmers in Northern Uganda. Using 395 smallholder farmer household heads across two districts in northern Uganda as the study sample size, we found that the three most widely practiced adaptation strategies to the effects of climatic change by smallholder farmers were planting of different crop varieties followed by planting drought-resistant crop varieties, and land fallowing. This is interesting because if access to weather information by farmers could be improved, a large number of smallholder farmers could be protected against the adverse effects of droughts and floods. However, a relatively small percentage (24%) of the household heads interviewed were found to use chemical fertilizers, probably because of the high cost of chemical fertilizers. The study also revealed a number of factors that influence the adoption of different specific adaptation strategies by smallholder farmers' household heads to the effects of climate change. Using the binary logit regression analysis, the study established that gender of household head, household size, marital status of household head, years of farming experience, size of land cultivated, time taken to market, farm income, access to agricultural extension services, and credit facilities significantly influenced the adoption of adaptation strategies by smallholder farmers in northern Uganda. In light of the above, the study recommends that government and development partners should focus on awareness creation of farmers on better production techniques and climate change adaptation strategies through mass media and agricultural extension, and creating affordable credit schemes through innovative approaches, such as Savings and Credit Cooperatives Societies (SACCOS) and Village Savings and Loan Associations (VSLA) to enhance adaptive capacity of smallholder farmers in northern Uganda.

Abbreviations

ADB: African Development Bank; HHs: Households; HHHs: Household heads; GUREC: Gulu University Research Ethics Committee; IPCC: Intergovernmental Panel on Climate Change; NGO: Non-Governmental Organization; UNCST: Uganda National Council of Science and Technology.

Acknowledgements

The work is partially supported by the African Development Bank (ADB) in their initiative to build the capacity of science lecturers at Gulu University. The authors thank Gulu University for providing an enabling environment for this study. They also extend their gratitude to Gulu University Research Ethics Committee (GUREC), Uganda National Council of Science and Technology (UNCST), and the office of the President of the Republic of Uganda for granting permission to conduct this study. Furthermore, they are grateful to the respondents who provided information for this study, the district administration, and the agricultural officers for supporting the survey.

Authors' contributions

FA, GMM, MN, and IOU participated in designing the study; FA and DMO participated in collecting field data. FA, GMM and DMO participated in analyzing and presenting the data. FA, GMM, MN, SPA, and IOU wrote the initial drafts of the manuscript. All the authors read and approved the final manuscript.

Funding

This study was funded by the African Development Bank (ADB).

Availability of data and materials

The datasets used and/or analyzed during the current study are available from the corresponding author on reasonable request.

Ethics approval and consent to participate

This study was approved by the Gulu University Research Ethics Committee (GUREC: GUREC-022–19). Permission to conduct this study was later granted by the Uganda National Council of Science and Technology (UNCST) and the Chief administrative officers of the districts of study. Written informed consent and assent were obtained from the adult participants and persons under the age of 18, respectively.

Consent for publication

Not applicable.

Competing interests

The authors declare that they have no conflict of interests.

Author details

¹ Department of Science Education (Agriculture), Faculty of Education and Humanities, Gulu University, P.O. Box 166, Gulu, Uganda. ² Department of Biology, Faculty of Science, Gulu University, P.O. Box 166, Gulu, Uganda. ³ Department of Biosystems Engineering, Faculty of Agriculture and Environment, Gulu University, P.O. Box 166, Gulu, Uganda. ⁴ Department of Rural Development and Agribusiness, Faculty of Agriculture and Environment, Gulu University, P.O. Box 166, Gulu, Uganda. ⁵ Department of Biochemistry, Faculty of Medicine, Gulu University, P.O. Box 166, Gulu, Uganda. ⁶ Department of Food Science and Postharvest Technology, Faculty of Agriculture and Environment, Gulu University, P.O. Box 166, Gulu, Uganda.

Appendix

See Tables 5, 6, 7, 8, 9, 10 and 11.

Table 5 The results for binary regression analysis for determinants of drought-resistant varieties as adaptation strategy

Explanatory variables	Coef	Std. Err	Z	P>z	[95% Conf	Interval]
Male	- 0.562	0.316	- 1.780	0.075	- 1.181	0.057
HH size	- 0.025	0.039	- 0.640	0.521	- 0.102	0.052
Married	0.913	0.379	2.410	0.016	0.170	1.655
Experience	0.015	0.011	1.380	0.167	- 0.006	0.037
Extension	1.644	0.529	3.110	0.002	0.607	2.682
Land owned	0.010	0.015	0.660	0.507	- 0.020	0.040
Land Cultivated	0.323	0.159	2.030	0.043	0.011	0.635
Credit	- 0.686	0.317	- 2.170	0.030	- 1.306	- 0.065
Time taken	0.068	0.154	0.440	0.657	- 0.233	0.370
log_farmY	- 0.038	0.174	- 0.220	0.829	- 0.378	0.303
Group	0.225	0.296	0.760	0.447	- 0.355	0.805
_cons	0.456	2.188	0.210	0.835	- 3.832	4.745

Explanatory variables	Coef	Std. Err	z	P>z	[95% Conf Int	erval]
Male	0.356	0.248	1.430	0.151	- 0.130	0.843
HH size	- 0.030	0.034	- 0.880	0.377	- 0.098	0.037
Married	0.200	0.324	0.620	0.536	- 0.434	0.834
Experience	0.004	0.009	0.450	0.652	- 0.014	0.022
Extension	0.296	0.319	0.930	0.354	- 0.330	0.922
Land owned	- 0.011	0.010	- 1.140	0.253	- 0.030	0.008
Land Cultivated	- 0.124	0.126	- 0.980	0.328	- 0.371	0.124
Credit	0.585	0.252	2.320	0.020	0.091	1.079
Time taken	0.365	0.146	2.500	0.012	0.079	0.651
log_farmY	0.325	0.157	2.080	0.038	0.018	0.632
Group	- 0.168	0.241	- 0.700	0.486	- 0.641	0.305
_cons	- 4.415	2.007	- 2.200	0.028	- 8.350	_
						0.481

Table 6 The results for binary regression analysis for determinants of use of improved seeds as adaptation strategy

Table 7 The results for binary regression analysis for determinants of use of chemical fertilizer as adaptation strategy

Explanatory variables	Coef	Robust Std. Err	z	P>z	[95% Conf Int	erval]
Male	0.778	0.306	2.540	0.011	0.177	1.379
HH size	- 0.018	0.038	- 0.470	0.641	- 0.092	0.057
Married	- 0.406	0.402	- 1.010	0.313	- 1.194	0.382
Experience	- 0.004	0.012	- 0.320	0.752	- 0.028	0.020
Extension	0.573	0.322	1.780	0.075	- 0.058	1.204
Land owned	0.000	0.003	0.100	0.917	- 0.005	0.006
Land Cultivated	0.165	0.145	1.140	0.255	- 0.119	0.448
Credit	0.323	0.286	1.130	0.259	- 0.237	0.884
Time taken	0.150	0.137	1.090	0.276	- 0.120	0.419
log_farmY	0.572	0.204	2.810	0.005	0.173	0.971
Group	0.002	0.274	0.010	0.994	- 0.536	0.540
_cons	- 9.804	2.661	- 3.680	0.000	- 15.020	_ 4.589

Table 8	The	results	for	binary	regression	analysis	for	determinants	of	use o	f agricultural	pesticides	as	adaptation
strategy	/													

Explanatory variables	Coef	Robust Std. Err	z	P>z	[95% Conf Int	erval]
Male	0.656	0.246	2.660	0.008	0.173	1.139
HH size	- 0.041	0.038	- 1.100	0.272	- 0.115	0.032
Married	- 0.406	0.334	- 1.220	0.224	- 1.061	0.248
Experience	0.002	0.010	0.160	0.873	- 0.017	0.020
Extension	- 0.041	0.315	- 0.130	0.896	- 0.659	0.577
Land owned	0.001	0.003	0.200	0.841	- 0.005	0.006
Land Cultivated	0.138	0.131	1.060	0.291	- 0.118	0.395
Credit	0.315	0.254	1.240	0.215	- 0.184	0.814
Time taken	0.066	0.135	0.490	0.623	- 0.198	0.331
log_farmY	0.508	0.162	3.130	0.002	0.190	0.826
Group	0.084	0.241	0.350	0.729	- 0.388	0.556
_cons	- 6.682	2.078	- 3.210	0.001	- 10.755	 2.608

Explanatory variable	Coef	Robust Std. Err	Z	P>z	[95% Conf In	terval]
Male	- 0.385	0.261	- 1.480	0.140	- 0.897	0.126
HH size	- 0.087	0.037	- 2.360	0.018	- 0.159	0.015
Married	0.257	0.331	0.780	0.437	- 0.392	0.906
Experience	0.032	0.010	3.220	0.001	0.013	0.052
Extension	0.175	0.339	0.520	0.605	- 0.488	0.839
Land owned	0.041	0.039	1.060	0.290	- 0.035	0.118
Land Cultivated	0.121	0.146	0.830	0.409	- 0.166	0.408
Credit	- 0.484	0.266	- 1.820	0.069	- 1.005	0.038
Time taken	0.292	0.145	2.020	0.044	0.008	0.576
log_farmY	0.247	0.152	1.620	0.105	- 0.052	0.546
Group	0.118	0.251	0.470	0.637	- 0.373	0.610
_cons	- 3.165	2.008	- 1.580	0.115	- 7.101	0.770

Table 9 The results for binary regression analysis for determinants of use of fallowing as adaptation strategy

Table 10 The results for binary regression analysis for determinants of use of different varieties as adaptation strategy

Explanatory variables	Coef	Robust Std. Err	z	P>z	[95% Conf In	terval]
Male	0.044	0.584	0.080	0.939	- 1.099	1.188
HH size	- 0.108	0.068	- 1.580	0.115	- 0.242	0.026
Married	- 0.546	0.865	- 0.630	0.528	- 2.241	1.150
Experience	- 0.003	0.023	- 0.120	0.908	- 0.047	0.042
Extension	- 0.981	0.642	- 1.530	0.127	- 2.239	0.278
Land owned	0.016	0.019	0.810	0.419	- 0.022	0.053
Land Cultivated	0.822	0.286	2.870	0.004	0.261	1.382
Credit	- 0.686	0.664	- 1.030	0.302	- 1.987	0.616
Time taken	- 0.114	0.279	- 0.410	0.681	- 0.660	0.431
log_farmY	- 0.259	0.308	- 0.840	0.400	- 0.862	0.344
Group	0.295	0.491	0.600	0.548	- 0.667	1.257
_cons	6.361	4.200	1.510	0.130	- 1.872	14.594

tegy
l

Explanatory variables	Coef Robust Std. Err - 0.014 0.264	Robust Std. Err	Robust Std. Err z 0.264 - 0.050	P>z	[95% Conf Interval]	
		0.264			- 0.532	0.503
HH size	- 0.028	0.034	- 0.820	0.415	- 0.094	0.039
Married	0.108	0.338	0.320	0.748	- 0.553	0.770
Experience	0.024	0.010	2.520	0.012	0.005	0.043
Extension	0.686	0.293	2.340	0.019	0.111	1.260
Land owned	- 0.002	0.003	- 0.650	0.519	- 0.007	0.003
Land Cultivated	0.150	0.126	1.190	0.235	- 0.097	0.397
Credit	0.626	0.271	2.310	0.021	0.094	1.157
Time taken	0.130	0.115	1.130	0.259	- 0.096	0.356
log_farmY	0.385	0.169	2.280	0.022	0.054	0.716
Group	0.005	0.249	0.020	0.983	- 0.483	0.494
_cons	- 7.138	2.180	- 3.270	0.001	- 11.410	- 2.865

Received: 18 February 2020 Accepted: 3 November 2020 Published online: 18 February 2021

References

- Salami A, Kamara AB, Brixiova Z. Smallholder agriculture in East Africa: Trends, constraints and opportunities. Tunis, Tunisia: African Development Bank; 2010.
- Hussain M, Butt AR, Uzma F, Ahmed R, Irshad S, Rehman A, Yousaf B. A comprehensive review of climate change impacts, adaptation, and mitigation on environmental and natural calamities in Pakistan. Environ Monit Assess. 2020;192(1):48.
- 3. Field CB, Barros V, Stocker TF, Dahe Q. Managing the risks of extreme events and disasters to advance climate change adaptation: *special report of the intergovernmental panel on climate change*. Cambridge University Press; 2012.
- Jain R, Arora A, Raju SS. A novel adoption index of selected agricultural technologies: Linkages with infrastructure and productivity. Agric Econ Res Rev. 2009;22(1):109–20.
- Biesbroek GR, Klostermann JE, Termeer CJ, Kabat P. On the nature of barriers to climate change adaptation. Reg Environ Change. 2013;13(5):1119– 29. https://doi.org/10.1007/s10113-013-0421-y.
- Rosegrant MW, Cline SA. Global food security: challenges and policies. Science. 2003;302(5652):1917–9.
- Santeramo FG. On the composite indicators for food security: Decisions matter! Food Rev Int. 2015;31(1):63–73.
- Wheeler, T., & Von Braun, J. (2013). Climate change impacts on global food security. Science. 2013;341(6145), 508–513.
- Igodan CO, Gwary MM, Ekpere JA. Critical skills and competency needs of extension agents: evidence from Nigeria. J Ext Syst. 1990;6(1):100–7.
- Mendelsohn R. The role of markets and governments in helping society adapt to a changing climate. Clim change. 2006;78(1):203–15. https://doi. org/10.1007/s10584-006-9088-4.
- Mendelsohn R. The impact of climate change on agriculture in developing countries. J Nat Resour Policy Res. 2008;1(1):5–19. https://doi. org/10.1080/19390450802495882.
- Esham M, Garforth C. Agricultural adaptation to climate change: Insights from a farming community in Sri Lanka. Mitig Adapt Strateg Glob Chang. 2013;18(5):535–49. https://doi.org/10.1007/s11027-012-9374-6.
- Bagamba F, Bashaasha B, Claessens I, Antle J. Assessing climate change impacts and adaptation strategies for smallholder agricultural systems in Uganda. Afr Crop Sci J. 2012;20:303–16.
- Krämer I, Borenäs K, Daschkeit A, Filies C, Haller I, Janßen H, Karstens S, Kule L, Lapinskis J, Varjopuro R. Climate change impacts on infrastructure in the baltic sea region. Sectoral impact assessments for the baltic sea region–climate change impacts on biodiversity, fisheries, coastal infrastructure and tourism. Coast Reports.2013;21:55–90.
- Belay A, Recha JW, Woldeamanuel T, Morton JF. Smallholder farmers' adaptation to climate change and determinants of their adaptation decisions in the Central Rift Valley of Ethiopia. Agric Food Secur. 2017;6(1):24. https://doi.org/10.1186/s40066-017-0100-1.
- Di Falco S, Veronesi M. How can African agriculture adapt to climate change? A counterfactual analysis from Ethiopia. Land Econ. 2013;89(4):743–66.
- 17. Deressa TT. Measuring the economic impact of climate change on Ethiopian agriculture: Ricardian approach. The World Bank; 2007.
- Bryan E, Ringler C, Okoba B, Roncoli C, Silvestri S, Herrero M. Adapting agriculture to climate change in Kenya: Household strategies and determinants. J Environ Manage. 2013;114:26–35. https://doi.org/10.1016/j. jenvman.2012.10.036.
- Di Falco S, Veronesi M. Managing environmental risk in presence of climate change: the role of adaptation in the Nile Basin of Ethiopia. Environ Resour Econ. 2014;57(4):553–77. https://doi.org/10.1007/s1064 0-013-9696-1.
- Covarrubias KA. The role of crop diversity in household production and food security in Uganda: A gender-differentiated analysis. Working or Discussion paper 2015.
- 21. Uganda Bureau of Statistics. The National Population and Housing Census 2014.

- 22. GoU (Government of Uganda). Uganda National Climate Change Policy: Transformation through Climate Change Mitigation and Adaptation. Ministry of Water and Environment, Kampala.
- 23. Branch, A. 2018. From disaster to devastation: drought as war in northern Uganda. Disasters. 2018;Volume 42, Issue S2
- 24. Oriangi G, An assessment of climate variability and change and its effects on millet yields in Paicho sub county, Gulu District. . MSc Dissertation. Kampala: Makerere University; 2013.
- Nimusiima A, Basalirwa CP, Majaliwa JG, Otim-Nape W, Okello-Onen J, Rubaire-Akiiki C, Konde-Lule J, Ogwal-Byenek S. Nature and dynamics of climate variability in the Uganda cattle corridor. Afr J Environ Sci Technol. 2013;7(8):770–82.
- Hisali E, Birungi P, Buyinza F. Adaptation to climate change in Uganda: evidence from micro level data. Glob Environ Change. 2011;21(4):1245–61. https://doi.org/10.1016/j.gloenvcha.2011.07.005.
- Funk, C., Rowland, J., Eilerts, G., & White, L. Famine early warning systems network: informing climate change adaptation series a climate trend analysis of Uganda. Technical report, Famine Early Warning Systems Network. 2012. https://pubs.usgs.gov/fs/2012/3053/FS12-3053_
- Wichern J, van Wijk MT, Descheemaeker K, Frelat R, van Asten PJ, Giller KE. Food availability and livelihood strategies among rural households across Uganda. Food Secur. 2017;9(6):1385–403. https://doi.org/10.1007/s1257 1-017-0732-9.
- Odogwu BA, Nkalubo ST, Mukankusi C, Paparu P, Patrick R, Kelly J, Steadman J. Prevalence and variability of the common bean rust in Uganda. Afri J Agric Res. 2016;11(49):4990–9. https://doi.org/10.5897/AJAR2 016.11600.
- Angwech H, Nyeko JH, Opiyo EA, Okello-Onen J, Opiro R, Echodu R, Malinga GM, Njahira MN, Skilton RA. Heterogeneity in the prevalence and intensity of bovine trypanosomiasis in the districts of Amuru and Nwoya. Northern Uganda BMC Vet Res. 2015;11(1):1–8. https://doi.org/10.1186/ s12917-015-0567-6.
- Twongyirwe R, Mfitumukiza D, Barasa B, Naggayi BR, Odongo H, Nyakato V, Mutoni G. Perceived effects of drought on household food security in South-western Uganda: Coping responses and determinants. Weather Clim Extreme. 2019;24:100–201. https://doi.org/10.1016/j. wace.2019.100201.
- 32. Uganda Bureau of Statistics. The National Population and Housing census 2014–Main report, 2016.
- National Environment Management Authority (NEMA). State of the Environment Report for Uganda. Kampala: National Environment 2012.
- Krejcie RV, Morgan DW. Determining sample size for research activities. Educ Psychol Meas. 1970;30(3):607–10.
- Strotz RH. Myopia and inconsistency in dynamic utility maximization. Rev Econ Stud. 1955;23(3):165–80.
- Herrnstein RJ, Loewenstein GF, Prelec D, Vaughan W Jr. Utility maximization and melioration: Internalities in individual choice. J of Behav Decision Making. 1993;6(3):149–85.
- McCormick, K. (1997). An essay on the origin of the rational utility maximization hypothesis and a suggested modification. Eastern Economic Journal. 1997;23(1), 17–30
- Wooldridge JM. Econometric analysis of cross section and panel data, 2002. Cambridge. 2002;22:135–58.
- Fosu-Mensah BY, Vlek PL, MacCarthy DS. Farmers' perception and adaptation to climate change: a case study of Sekyedumase district in Ghana. Environ Dev Sustain. 2012;14(4):495–505.
- 40. Ndamani F, Watanabe T. Determinants of farmers' adaptation to climate change: A micro level analysis in Ghana. Sci Agri. 2016;73(3):201–8. https://doi.org/10.1590/0103-9016-2015-0163.
- Asfaw M, Geta E, Mitiku F. Economic efficiency of smallholder farmers in Wheat production: the case of Abuna Gindeberet District. Western Ethiopia Rev Agric Appl Econ. 2019;22:65–75.
- Suvedi M, Ghimire R, Kaplowitz M. Farmers' participation in extension programs and technology adoption in rural Nepal: a logistic regression analysis. J Agric Educ Ext. 2017;23(4):351–71. https://doi.org/10.1080/13892 24X.2017.1323653.
- Gebre GG, Isoda H, Amekawa Y, Nomura H. Gender differences in the adoption of agricultural technology: The case of improved maize varieties in southern Ethiopia. Womens Stud Int Forum. 2019. https://doi. org/10.1016/j.wsif.2019.102264.

- Omotilewa OJ, Ricker-Gilbert J, Ainembabazi JH. Subsidies for agricultural technology adoption: Evidence from a randomized experiment with improved grain storage bags in Uganda. Am J Agric Econ. 2019;101(3):753–72. https://doi.org/10.1093/ajae/aay108.
- Feder G, Savastano S. Modern agricultural technology adoption in sub-Saharan Africa: A four-country analysis. In Agriculture and Rural Development in a Globalizing World 2017 (pp. 11–25). Routledge.
- Muriithi BW, Menale K, Diiro G, Muricho G. Does gender matter in the adoption of push-pull pest management and other sustainable agricultural practices? Evidence from Western Kenya Food secur. 2018;10(2):253–72. https://doi.org/10.1007/s12571-018-0783-6.
- Amare ZY, Ayoade JO, Adelekan IO, Zeleke MT. Barriers to and determinants of the choice of crop management strategies to combat climate change in Dejen District, Nile Basin of Ethiopia. Agric Food Secur. 2018;7(1):37. https://doi.org/10.1186/s40066-018-0188-y.
- Westengen OT, Brysting AK. Crop adaptation to climate change in the semi-arid zone in Tanzania: the role of genetic resources and seed systems. Agric Food Secur. 2014;3(1):3. https://doi. org/10.1186/2048-7010-3-3.
- Okonya JS, Kroschel J. Gender differences in access and use of selected productive resources among sweet potato farmers in Uganda. Agric Food Secur. 2014;3(1):1. https://doi.org/10.1186/2048-7010-3-1.
- Amare A, Simane B. Determinants of smallholder farmers' decision to adopt adaptation options to climate change and variability in the Muger Sub basin of the Upper Blue Nile basin of Ethiopia. Agric Food Secur. 2017;6(1):64. https://doi.org/10.1186/s40066-017-0144-2.
- Waha K, Müller C, Bondeau A, Dietrich JP, Kurukulasuriya P, Heinke J, Lotze-Campen H. Adaptation to climate change through the choice of cropping system and sowing date in sub-Saharan Africa. Glob Environ Change. 2013;23(1):130–43. https://doi.org/10.1016/j.gloen vcha.2012.11.001.
- Wekesa BM, Ayuya OI, Lagat JK. Effect of climate-smart agricultural practices on household food security in smallholder production systems: micro-level evidence from Kenya. Agric Food Secur. 2018;7(1):80. https:// doi.org/10.1186/s40066-018-0230-0.
- Vorley B, Lundy M, MacGregor J. Business models that are inclusive of small farmers. Agro-industries for Development, Wallingford, UK: CABI for FAO and UNIDO; 2009. p. 186–222.
- 54. Lesejane D. Fatherhood from an African cultural perspective. Baba: men and fatherhood in South Africa. 2006:173–182.
- 55. Takele A, Abelieneh A, Wondimagegnhu BA. Factors affecting farm management adaptation strategies to climate change: The case of western Lake Tana and upper Beles watersheds, North West Ethiopia. Cogent Environ Sci. 2019;5(1):1708184.
- Kroll CN, Song P. Impact of multicollinearity on small sample hydrologic regression models. Water Resour Res. 2013;49(6):3756–69.
- Bozzola M, Smale M. The welfare effects of crop biodiversity as an adaptation to climate shocks in Kenya. World Dev. 2020;2020(135):105065.
- McCarthy N, Lipper L, Zilberman D. Economics of climate smart agriculture: An overview. In Climate Smart Agriculture 2018 (pp. 31–47). Springer, Cham.

- Eriksen SH, Brown K, Kelly PM. The dynamics of vulnerability: locating coping strategies in Kenya and Tanzania. Geogr J. 2005;171(4):287–305.
- https://doi.org/10.1111/j.1475-4959.2005.00174.x.
 60. Roehr U. Gender, climate change and adaptation. Introduction to the gender dimensions. Background paper prepared for Both Ends briefing paper Adapting to climate change: How local experiences can shape the debate", Berlin, Genanet, August 2007.
- 61. Rohr U, Saeur A. How can gender equality and its interdependencies with other social categories contribute to a successful climate policy? A research project about interdependent options for the improved design of climate change mitigation and adaptation measures in Germa. Interdiscip Perspect Equal Divers. 2018;4(1).
- 62. Banful AB, Nkonya E, Oboh V. Constraints to fertilizer use in Nigeria. International Food Policy Research Institute. 2010.
- 63. Umar S, Musa MW, Kamsang L. Determinants of adoption of improved maize varieties among resource-poor households in Kano and Katsina States. Nigeria J Agric Ext. 2014;18(2):196–205.
- Kaliba AR, Mazvimavi K, Gregory TL, Mgonja FM, Mgonja M. Factors affecting adoption of improved sorghum varieties in Tanzania under information and capital constraints. Agric Food Econ. 2018;6(1):18. https ://doi.org/10.1186/s40100-018-0114-4.
- 65. Nhemachena C, Hassan R. Micro-level analysis of farmers adaption to climate change in Southern Africa. Intl Food Policy Res Inst; 2007.
- Temesgen D, Hassan RM, Tekie A, Mahmud Y, Ringler C. Analyzing the determinants of farmers' choice of adaptation methods and perceptions of climate change in the Nile Basin of Ethiopia. Intl Food Policy Res Inst. 2008 Sep.
- 67. Mabe FN, Sienso G, Donkoh SA. Determinants of choice of climate change adaptation strategies in northern Ghana. Res Appl Econ. 6:75–94. http://hdl.handle.net/123456789/2082
- Daberkow SG, McBride WD. Farm and operator characteristics affecting the awareness and adoption of precision agriculture technologies in the US. Precis Agric. 2003;4(2):163–77. https://doi.org/10.1023/A:1024557205 871.
- 69. Maddison D. The perception of and adaptation to climate change in Africa. The World Bank; 2007 Nov 8.
- Hassan RM, Nhemachena C. Determinants of African farmers' strategies for adapting to climate change: Multinomial choice analysis. African J Agric Resour Econ. 2008. https://doi.org/10.22004/ag.econ.56969.
- Sun R, Zhang XX, Guo X, Wang D, Chu H. Bacterial diversity in soils subjected to long-term chemical fertilization can be more stably maintained with the addition of livestock manure than wheat straw. Soil Biol Biochem. 2015;88:9–18. https://doi.org/10.1016/j.soilbio.2015.05.007.

Publisher's Note

Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.

Ready to submit your research? Choose BMC and benefit from:

- fast, convenient online submission
- thorough peer review by experienced researchers in your field
- rapid publication on acceptance
- support for research data, including large and complex data types
- gold Open Access which fosters wider collaboration and increased citations
- maximum visibility for your research: over 100M website views per year

At BMC, research is always in progress.

Learn more biomedcentral.com/submissions

